XYZ,,=103.66 , 99.99 , 52.43 L*—eolog[ (Yanl Yan=[Y-50]/50
A,=2568,-3,)Y 1 - 60[ 1 691
95Y,

B,= 2,58, (b,~ b,) Y =5 ¢
222 :20{(7)! %)/

= z
0= f byo=-04 %
X, = 0,110, B_ = 1,800
Cago=IAF+B1
6 OstwaldFarben (o)
von maximalem (m)C,,
linearen Farbenraum (CAE 2, \8
Lichtart P35, ¥,,<100 Y, =495

Name Bereich X, 0

R, 575_775 7128 4036 218 " 26k 03kl obs Y, )={1+10}Y, "]
Vi 500775 95.76 94.74 45 0491 04858578 472 a0

G, 500575 28.72 58.47 4.46 03133 0.6379 548 smvahut sich 1 fir:

) Parameter:
C, 380575 36.63 63.73 52.4 02397 0.4172496 605 abnehmendem :
B, 380500 12.15 .35 50.08 0.1698 0.1307472 578 | onirast C Y & Name
M, 575500 79.19 45,62 50.11 0.4527 0.2607 548c545 :

4575 anein
Wisio 775 1038895 5243 04047 03904 30 2. Aneinandergrenzende Lichtart P35
N,'380 775414 399 209 04047 03004 4% | Separate Farben. Y,,=10Q Y\ =4
Z, 380_775 18,66 180 943 04047 0.3904 18%
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